ey = oot

o
-

AT A = (X0 <x< 1} Hi5te] AoA AR9
y = g(x) 2] Tz} otef) 2F3 T2 W], (fogo f1)(d) 2 3k

Aufel7}?




my, ook

o 4>

y =
o, (

fx) o 2ot AM y = x o] TFPnr}t QEX 7Y}
fo ) (@) 9] e Frrk?
yl\ Y=z
dr=="""""2 “1) =)
cr----- £ -]
bl - - - ":".':
al -~ 4 - :I
O : 1 : | : >
a b ¢ devz
@ b B ¢ @ d G e






4. A% BAL) WTR AN R 2 A B4 1, g, 4ol 5}l (hog)(x) =
Bx+4, f(x) = D, (ho(go/))(2) & R eIt

Qe
.



5. F

ek

2 f(x) =x+2, g(x) = 2x— 19 tate] (go £)(1) Q] 22

D 1 ® 3 3 5 @ 7 ®B 9



o

x? + 19 Hiskod (go f)(2) 2

3x -5, g(x)

3 2 @ 3 B 4

® 1



ol
N

3 2 @ 3 3B 5

? 1



O y=x*+2x(x21)
@ y=Vr+1(x2-1)
® y=+Vx+1+1(x<1)

@ y=x-2x(x<1)
@ y=Vx+I+1(x>-1)



<

oA

x+2, g(x)

% /) =

(80 )7 (x)

oA

bk

bl Re191712

5 76



10. A A e R AA R 2o ANAHSA A &5 f, g, h
iste] thg 7] 5 22 AL BT 12 AL FoAQI7p (g 1
G5

1=
Q@ fog=gof
© (fog)oh=fo(goh)
© (fogoh)yt=f"togloh™
@ fog=1°]Hg= "ol
® 9,0 @ ©,6e ® ©,6

@ O,0,6 ® ©O,E,e






5 f, g ol ot fog=go folTh

Sh
=]

Q F

% f X o ¥ o jste] f1 7t ZAjstA

o}
fof™

©

o f oItk

(hX2Y)

@ © ® ©

©a
@ ©.©

B O.0.60



